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60

O 38 kg Na 95 g

C 12 kg Cl 92 g

H 6 kg Mg 39 g

N 1.8 kg Fe 4.5 g

Ca 1.2 kg F 4.2 g

P 720 g Zn 2.1 g

S 145 g Si 1.2 g

K 130 g 1 g
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6 1024kg=6 kg

O 46.6%

Si 27.7 %

Al 8.1%

Fe 5.0 %

Ca 3.6 %

Na 2.8%

K 2.6 %

Mg 2.1 %
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http://www.createtodiscover.com/



138

NASA







Χ

Χ

Χ



Ҝ



Å 2 1030 kg 30

ï Ҝ Ҝ
Ҝ Ҝ

6000

1500
4 1026

(1

200 )
Ӓ( )2

http://www-groups.dcs.st-

and.ac.uk/~history/Mathematicians/Newton.html
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E = m x c2
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http://scioly.org/wiki/index.php/Astronomy/Stellar_Evolution


